mAEMm R REFEHS (KRS BEBHR
SH543/8258 (+mH)

Fx ENSEfaghE: 1745 b

(B ILHEREST)
BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 14,660
130100|7 W A ®s 9,160 0 7,650| 10 1,296 432
13010072V A RI& 5,410 0 2,494 12 1,296 540
130340 ICA LA e 7,110
130340 ICA LA EH 500 0 500/ 10 1,512 1,350
130340 ICA LA h= 5,020 0 5,020| 10 2,376 1,188
130340 ICA LA Ri& 440 0 440 10 1,534
130340 ICA LA ) 700 0 700| 10 1,728 1,598
130400| 1% 5 iy 1,730
1304001 5 5 1,450 0 1,450 4 1,706
13040021 5 B3 200 0 2001 10 3,488
130500|7z\F > & B 276
130500(7 7> & 1& 108 12 96 4 2,916 2,430 5,184 3,024
130500|7z\F > & ) 96 0 96 2 2,916 1,944
130600|1LA Z A [y 1,057
130600{1 A T A B[] 170 0 170 5 2,160 1,080
130600|1LA Z A 1& 275 0 265 5 3,348 864
131100{B % HE 13,140
131100 B3 B3 5,865 450 5,175 15 1,080 1,620 1,080
131100{A 3 & 1,575 0 1,575 15 1,620 940
131100 B3 K& 5,700 0 5,175 15 2,506 1,512
131700(%F v~ HE 38,607
131700|F v+ R E5 17,260 0| 13,400 10 1,080 626
131700(%F v~ & 16,637 0| 12,605 10 972 540




131700(F v v FMFrb 3,000 2,800| 10 1,080 864
131700| % + <Y ) 1,710 1,710 10 918 702
131800(I1F 3 WA E et 1,563

131800(1F 5 A= 5 25 0 25| 0.2 130
131800(I1F 3 WA E FE 505 416 89 0.2 85 32 52
131800(12 5 WA E = 292 0 284 4 2,808 1,080
131800(I1F 3 WA E =1 540 0 540/ 0.18 86 76
131910(F R & e 2,406

131910(Fh & KB 27 27| 0.045 63 62
131910(F R & FE 86 84 0.5 810 265
131910(Fh & [ 415 85 230 1 324 216 756 270
131910(F R & &) 1,298 1,298 10 3,132 2,430
131910(Fh & iR 380 355| 10 2,484

131950|H A & HE 6,130

131950(H & BSE 1,070 0 873 3 1,296 432
133400(L % % e 16,893

133400(L % 2 I, 5,283 0 4,073 10 1,944 756
133400(L % % & 7,590 0 2,000 10 2,376 1,620
133400(L % 2 ES 2,820 0 2,520| 10 2,484 756
133400(L % X R 1,200 0 510 10 1,458

134100 |88/ et 15,810

134100 (&A1 = 3,390 0 2,410 5 2,160 1,264
134100 |88/ Syt 720 0 440 5 1,728 1,404
134100|#A/1 = I 9,580 4,600 5 2,160 1,242
134300 (%6 7 et 7,031

134300|50F hy= 956 10 896 2 1,026 1,080 432
134300 (%6 F Syt 4,719 3,297 1 205
134300(#6F & 1,356 1,248 0.3 146 108
134400| k< k et 7,676

134400| k= b+ FLE 811 0 811 1 378 292




134400 b~ b R 932 932 2,160 1,512
134400| k< b REAR 5,895 5,155 2,700 1,296
134500 "=~ ~ ¥ 4,942

134500 &' —~ >~ = 720 612 0.15 97 86
134500 "=~ ~ =y e 4,177 3,629 0.13 119 76
135100| W A LT A ¥ 236

135100 WA F A =N 36 26 2 2,808 2,268
135100| W A 1T A B IR 40 40 2 1,728 1,512
135200|%= T3 104

135200|%= ANER L 104 84 2 2,376 648
135300|— X ¥ 661

135300 &"— X FOFRL 150 140 2 2,376 864
135300|— X RS 15 15 1 1,296
136100(AA L & ¥ 7,895

1361001 A L & wE 4,250 3,585 5 2,376 540
136100(AA L & =N 80 0 0.5

136100|HA L & Ry 3,500 3,300 5 1,728 864
136200\ %& ¥ 1,100

136200| %5 timE 300 300 10 1,102 1,058
136200(F % B IR 800 800 10 3,478 3,413
136210( A =7 1 ~ ¥ 1,330

136210( X —7 1 > time 1,090 1,090 10 1,998 518
136210( A =7 1 ~ RS 240 240 10 3,002
136300|2F ¥ 820

136300|8F EiE 820 760 10 3,240 1,080
136600|7z & ¥ 17,475

136600(7-xa & Jtime 11,200 11,200 20 2,398 2,074
136600|7z & 5B 2,935 2,935 10 2,754 1,080
136600(7-xa & R 3,280 3,280 10 1,652 1,642
138100({& L W Ao lF ¥ 2,645




138100|& L Wizl FE 55 0 55 0.1 65 54
138100|&= L W7ol BE 1,952 0 1,629 0.2 248 32
138500| L& LE ¥ 3,180

138500| L& LE g 3,168 0 2,884 0.32 86




mAEMm R REFEHS (KRS BEBHR
SH543/8258 (+mH)

LSS ENSEfashE: 343 b

(B ILHEREST)
BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240700 @EINAN A |HEL 520
240700|Z@EIMNA N A | FFRWL 520 0 520/ 10 3,564
241481| 7 3R> [y 4,637
241481|7 2R > &I 3,872 0 2,957 5 2,376 1,080
241481| 7 3R> iR 10 0 10 5 3,024
242320 a+3—IL K |## 2,000
242320|¥ 3+ a—L K | BH 2,000 0 1,690 10 3,024 2,160
242830|5 LW AT e 12,160
242830|3 LW AT EE 12,160 0| 11,810 10 4,644 2,160
2460001 B & HE 11,793
246000|L\B & & 354 151 193] 0.25 432 216 432 292
246000 LB & &I 456 0 272| 0.25 378 216
246000|L\bB & f&hd 3,714 0 3,104 0.27 562 162
246000( LB & (= 600 0 0| 0.24
246000|L\B & RI& 2,374 0 2,116 0.25 432 184
24600016 & BEAR 4,049 0 2,643| 0.25 356 184
246000|L\B & =y 246 0 216| 0.25 324 248
247100| 7 — L2 X O |## 179
2471007 — 2 x By | &M 179 60 111 85 10,800 7,560| 16,200 8,640
248300|T# T L\ e 2,995
248300|TH T Ly (SE il 10 0 0| 10
248300|T T L\ BEAR 2,985 0 2,370 15 7,776 2,700




